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LCM=5%x6x%7 M| IXSX3X -

= 210 min = 3h 30 min
Time they will ring together again

= 8.48am + 3h30min ——
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Integral values
b B1 Al Aves
1,2,3 ' 3
Let the polygon be » sided ‘
k. (n ~ 2)180 = 90 + 90 + 150(n - 2) Ml 40+ 9o 4 o (1§0-U =
| 180n - 360 = 180 + 1501 — 300 60 1, | sk xS AES b
18 Sex = i@
30 = 360 + 180 - 300 = 240 M1 ! i<
. \_____‘______ LT ! ‘ :
n=8 o A Al
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Ei Bl v Construction of 67.5° at f (He
g locating of point D
Bl |v Construction of DC//AB &)
Bl |v Trapezium ABCD
(b) DC = 3em—+.0T 12:‘1
&lJo
13. | Departure(from Msa)
=2.30 am = 0230h (Tue)
Arrival(Mtito Andei)
=0230 + 3h12mm =0542h (Tue) M1 ol
.| NB:36hrs = ldaythours ey e i
g quu{umo Andei)
m— ie) + lday + 12 hrs
= 054 _,(“d)ﬂ?.hours
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A B
| - gser ©
Bl |+ Construction of 67.5° at & Hhe
aPlocating of point D 2O
Bl | v Construction of DC//AéE &)
Bl v" Trapezium ABCD
(b) DC = 3cm—=+ 0T Bl
3 T .
13. | Departure(from Msa)
= 2.30 am = 0230h (Tue)
Arrival( Mtito Andet )

= 0230 + 3h12min = 0542h(Tue)
NB: 36hrs = 1day 12hours

Departure  Mtito Andei)

= 0542h(Tue) + 1day + 12 hrs

= (0542h (wed ) +12hours

= 1742hrs(Wed)
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E .—&17 l(:l;rkinLScheme Marks | Comments T
4 : 60 30 M
E No. of tins = — x — x 3_0 L, ¥
| 10 10 15 &« Ml
:ll =0x3Ix?2 v
]
=36 , "
(b)
Mass of tin and jam = 990 g+300 g Ml \ W
Lt -
=1290g
Mass of carton full jani tins
= (560+1290x36)g| Ml
f =
= 47000 g
= 47 kg
) R A
Let N be the number of cartons carried ) Ao
A ™M
by pick up s . U
S04 b~ N4
4N < 600 o wINFL® - &
N'= 211 L Sholinte
N < 12.7§
Max N = 12 il
)
| Retailers S.P (A=
= Ksh(110 x 36) - | &
= Sh 3960 per carton
profit = Ksh(3960 — 2880) ]
™~ Ml | B XioX12
sh1080 w75
L s oy @ lr‘
M1 > |
Al - ; ,“
‘['!;Z‘*Q K)g’\‘u
'\C\\u. <
| - .r/‘/
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= 216.5 cm’

2 N @ (i) h = Height of cone
B A 2 ssigh = 2165
3 7

Ix7x216.5
=t
L3S

= 16.87 cm
(i) Let / = slant height of cone

= J@Sz+16,372),,_,_,_y_,,_, ,

Al

Ml

Al

Ml

Al

Ml

D42

689
S i
BTN i
v,
o ‘Ij

o LR
LR

Gl ) M
ge85(8 T+ ‘)i"l'?—.s-r") A
2270l

/-—-—-

Scanned with CamScanner



10

R A
Marking Scheme Marks | Comments —]
(a) 25x + 35y = 13500 or 5x + 7y = 2700 Bl
21x + 38y = 12200 - Bl
5 7= 2700
(b) -
21 38y 12200
Deterninant of coefficient matrix e
= 5x38—7x21 ?p;’&
= 43
Inverse of coefficient matrix
) i § ( 38 —7] ",.2,}'5 ’Z.;s M1 | for inverse
- Frime oy T .
43(-21 s 2 e
| | @ €
e [*)_ 1 w. - 2700 ML/‘ pre.multiplying
() #3(-21  5)li2200 1 = |byinverse
- _ 1(38x2700+-7x12200) - ___——+ Ml | Attempting to
~ 43( -21x2700+5x12200 )< el i
_ 1 (17200
43 4300
: a1 G,(;g)‘{ . - Ml Simplifying
e Al
ok ‘= sh.400 Exercise book sh.100 Fér S
spent by Kasuku school
| .' 105 A K Q\CJ)* 3 ) ‘ «
¥400+ BSXEXIOO \ "_‘2}”—)’ M1 (Fxi¥ia ..
\
ML | " e gl
qw 34“"'
= Al L ¢
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(iii) Angle BAD

Py

R s s
sin70  sin BAC

sin BAC = Q‘_;‘_;‘_"B

BAC = sin™ 0.6876
BAC = 43.44
Base angles of triangle DAC

180-50
2

= 65°
ZBAD = 65 + 43.44
= 108.4°

T et
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(a) (x - 4)' = (x - 8)(2x + 7)
#..

:’ -4;-72=o : !
(x-9)(x + 8)=0_

8x+16=2x" + Tx - 16x - 56 ra

Yo - a

x=9o0rx = -8

(b)

Time taken by John = 3 : (1)

Time taken by Peter = o (ii)
X
6 2.4 16 4 —— g

6(15x)—2.4x15x(2x—3) = 4x(2x -3)
90x — 72x +108 = 8x% —12x

8x* —30x—108 =0 or 4x>—15x—54 =0 —

15 + \J(225-4x4x—54)
8

15 +33 R
8

x=6o0r x =-225

X =

x =

Y;\)._;" V.{\ et V)C'L
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| Marks | Comments

Mid-point (v) |/ | CF

42 168 | 4

47 329 | 11

52 416 | 19

57 342 | 25

62 434 | 32

67 201 | 35

78 360 | 40

’ (b) Modal classes

50-54

() (1)
_ 2%

40
56.25kg

=1

i

(ii) Median student = 20

Mass of 20th student

= 545 + -5-xl
6

1
8 55"
T i T

A% 5

e
k. s

)

= =
¥

2250

Bl |V class imterval -
Bl |V frequency« -~
Bl |V Mid-points ~— "
Bl' [ xp e R

Bl

I\‘VHL,.:. }
MlAs |

» Ml

Al

Bl ‘ICF ¢ ove AT P

M1 [G47 A

Al L& 54
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=4

Equation of tangent to the curve at \ -

Bt -
x = (-2)

y+l=4x + 8

4

y=4x + 7

B . v e
() R =% - 2 ; 0 at turning point

{(x+1)(x-2)=0

it i
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2

e

?9*-' o

Ml

Al

» M1

P Ml
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